1.4 Lesson Multiplying Integers

Multiplying Integers with the Same Sign

Words The product of two integers with the same sign is positive.
Smin—

Numbers 2+3=6 —2+¢(—3)=6

Multiplying Integers with Different Signs

Words The product of two integers with different signs is neﬁaﬁve.

R -H é . __2.,, N N

3V IR Multiplying Integers with the Same Sign

Find -5 « (—6).

[ The integers have the same sign. )

Yooy
=5+ (—6) =

t—[ The product is positive. )

::+ The product is 30. ?

¢V IIE 2 Multiplying Integers with Different Signs N

Multiply. a
e (-4 =" ‘ b —7+4

§ TSmolues—lY :+  The product is —28.



EXAMPLE | :; BUISLIESCILE NS

a. Evaluate (—2)2 b. Evaluate —52.
(=2)2 = (=2) « (—2) P _52= —(5.5)
=4 = —25

c. Evaluate (—4)3. {\'
(—4)° f@ ; (—E),- (-4)

- .1.‘,5. «(—4)
= —64
EXAMPLE () SLEEIRE W T[S Taxis in Service
The bar graph shows the number of taxis a company has in 2 150 fewer taxis
service. The number of taxis decreases by the same amounteach =
year for four years. Find the total change in the number of taxis. g H B A
The bar graph shows that the number of taxis in service decreases £
by 50 each year. Use a model to solve the problem. = |_|
o 1 2 3 4
Year

Total change = Change peryear « Number of years

=—50+4
T—( Use —50 for the change per year because
= —200 the number decreases each year.

-:» The total change in the number of taxis is —200.



